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General Instructions :

(1)

(i1)
(iii)
(iv)

(v)
(vi)
(vii)
(viii)

(ix)

67/5/2

This question paper contains 34 questions. All questions are

compulsory.
This question paper is divided into two parts — Part — A and Part — B.
Part — A is compulsory for all candidates.

Part — B has two options i.e. (I) Analysis of Financial Statements and
(1) Computerised Accounting. Candidates must attempt only one of the

given options as per the subject opted.

Question Nos. 1 to 16 and 27 to 30 carries 1 mark each.
Question Nos. 17 to 20, 31 and 32 carries 3 marks each.
Question Nos. 21, 22, and 33 carries 4 marks each.
Question Nos. 23 to 26 and 34 carries 6 marks each.

There 1s no overall choice. However, an internal choice has been
provided in 7 questions of one mark, 2 questions of three marks, 1

question of four marks and 2 questions of six marks.
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10 P
(AT Wi e st 3 fore orate)
1. (a) ¥E qYl et T %4 % HTEICR 8 a¢T 3 : 2 % 3TIId | AH-8TH died § | Wi
o T U 1/49 9T & 70 37fehar =1 Ueh 7 TT3ieR o &9 Yo ez @ | e
T fufer <At gSft skt % 3,00,000 @€T T 1,50,000 off | 3iferar 37t ISt < &
H3 2,00,000 TE | STfeheT o T 9 HH hHT ST BT I o7 ©

A) 2,50,000 B) ¥8,00,000
(C) %4,50,000 (D) % 1,50,000
HAYAT

(b) Tl e AT WPiER & AT 4 : 3 % FATa § o Sied 8 | Sa o # 8/74 |
o foru forem o1 wes 3 "rEier sHrn, e 2/74 9 s srftmge 39 i qen
1/73 S <1 Wt @ fopan | o, wreedt qe fem o1 7= oy s st g
(A 4:3:3 B) 5:3:2
) 2:3:5 D) 2:2:3

2. i, gu e gy Uk BH & TR 9 qUT 3: 2 1 1% A H oY sied 9 | A A
Y Yarfee &1 TE | g bl Fartigha <At fafr Bt gee 61 2 30,000 T 9 | I TEER 3
fota foren fop 38 =g A o anfies fopval & ugel o Y wwTfed & Ty hieh feRarm
SITET | % 30,000 o1 g&drawet fe § & fohd @d § feam St 2
(A) Gu T R @Al
(B) gH o frsuTees o1 @rar
(C) gH 1 S @l

(D) gHA <t =] Wrdl

3. firr e1fer fafies 3 s1He fafies @ % 3,60,000 gea Y afemaf w1 s foam qen
% oI T YT T 100 T&b & 11% FITTHA] b1 10% g W Frifera wees o |
ifeer arter feafiree o g foifira st <6t o of -

(A) 3,600 B) 36,000
(C) 40,000 (D) 4,000
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PART - A
(Accounting for Partnership Firms and Companies)

1. (a) Manas and Mili are partners in a firm sharing profits in the ratio of
3 : 2. Anita is admitted as a new partner for 1/4th share in future
profits. Capitals of Manas and Mili were ¥ 3,00,000 and ¥ 1,50,000
respectively. Anita brought ¥ 2,00,000 as her capital. The value of

goodwill of the firm on Anita’s admission. 1
A) % 2,50,000 (B) % 8,00,000
(C) % 4,50,000 (D) 1,50,000

OR

(b) Mini and Mansi are partners sharing profits in the ratio of 4 : 3.
They admitted Nisha as a new partner for 3/7th share in profits
which she acquired 2/7th from Mini and 1/7th from Mansi. The new

profit sharing ratio of Mini, Mansi and Nisha will be : 1
(A 4:3:3 B) 5:3:2
) 2:3:5 D) 2:2:3

2. Nita, Suman and Harish were partners in a firm sharing profits in the
ratio of 3 : 2 : 1. Suman retired from the firm. On the date of Suman’s
retirement, ¥ 30,000 was due to her. The remaining partners decided to
pay her in three yearly instalments starting from the end of the first year.

% 30,000 will be transferred to which of the following account : 1
(A) Suman’s Loan Account (B) Suman’s Executor’s Accounts
(C) Suman’s Bank Account (D) Suman’s Current Account

3.  Premier Auto Ltd. purchased assets of the value of ¥ 3,60,000 from Anand
Ltd. and made the payment of purchase consideration by issuing 11%
Debentures of ¥ 100 each at a discount of 10 %. The number of debentures

issued by Premier Auto Ltd. were : 1
(A) 3,600 B) 36,000
(C) 40,000 D) 4,000

67/5/2 Page 5 P.T.O.



4.

JTfee, SAfiaa qT 3ifehd Teh ®H & ATHGR & AT 4 ¢ 3 : 3 % UG H A-7TH sied
& | 31 9T, 2022 1 FH 1 foered g1 e | forered wfskan w1 qu s o for anfeea
frafa o1 7 b fore 3@ T 42,000 o1 wiitfies & o1 | snfeca foeren = syam
U & foTe wgwa &1 1 | foered W arEfass =29 % 33,000 U, frEsht yram snfee 3
fopam | amifeea & ISft @Td % ST ve H WAl ST STHaTett i g

(A) 42,000 B) 33,000

(C) 9,000 D) % 18,000

33, Torom @ 9o T % % HISGR 9 9T 4 : 3 : 3 31U H o Sied 9 | 1 37,
2022 § I8 GATY I Th T1 HIHGR SR | 3G, [ooM, Fa TAT T 1 Fa1 <
fouTeM 31Ut 3 : 3 : 2 : 2 BAM | 31 WE, 2022 I 3 Rufa ferewor 1 3gwor fm=
YhR A feam T g
Samn [ ufratEt afon
® ®)
frow SaR-wgra @e | 80,000 | A& @R gea 3 80,000) | 90,000
TS o T3 T Tersr Iqr-<gra g=’ &1 f= o | 19 |1 ohgieh 9al g 2

ASHTH

T = T e T
(9] ()

A) | fEy 3arR-=agE g=F @ Eik] 10,000
TR @Il 10,000

B) | Fe Iar-=eE T=g @l T 80,000
34 %1 il @t 32,000
[EEREARTIRCI] 24,000
Ta T St @At 24,000

(C) | gAY GTaT am 10,000
Trersr IaR-<reTe H= @ 10,000

D) | FE Iar-=eE = @l aw 80,000
[EERECIGI 10,000
g 1 YT @ 28,000
[EEREARTIRCI] 21,000
Ta 1 Yoft @ 21,000
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4. Aditya, Abhinav and Ankit were partners in a firm sharing profits in the
ratio of 4 : 3 : 3. On 31st March, 2022, the firm was dissolved. Aditya was
appointed to complete the dissolution process for which he was allowed a
remuneration of I 42,000. Aditya also agreed to bear dissolution expenses.
Actual expenses on dissolution amounted to I 33,000 which were paid by

Aditya. Aditya’s Capital Account will be credited by :
(A) T42,000 B) 33,000
(C) 9,000 (D) T 18,000
5. Indu, Vijay and Pawan were partners in a firm sharing profits in the ratio
of 4 : 3 : 3. They admitted Subhash into partnership with effect from 1st
April, 2022. New profit sharing ratio among Indu, Vijay, Pawan and
Subhash will be 3 : 3 : 2 : 2. An extract of their Balance Sheet as at 31st
March, 2022 is given below :
o Amount Amount
Liabilities @ Assets ®)
Investment 80,000 Investments 90,000
Fluctuation Reserve (Market Value % 80,000)
Which of the following is the correct accounting treatment of ‘investment
fluctuation reserve’ at the time of Subhash’s admission ?
JOURNAL
Particulars Debit Credit
Amt. @) | Amt. })
(A) | Investment Fluctuation Reserve A/c  Dr. 10,000
To Revaluation Alc 10,000
(B) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Indu’s Capital A/c 32,000
To Vijay’s Capital Alc 24,000
To Pawan’s Capital Alc 24,000
(C) | Revaluation Alc Dr. 10,000
To Investment Fluctuation Reserve 10,000
(D) | Investment Fluctuation Reserve A/c  Dr. 80,000
To Investments Alc 10,000
To Indu’s Capital Alc 28,000
To Vijay’s Capital Alc 21,000
To Pawan’s Capital A/c 21,000
67/5/2 Page 7 P.T.O.



6. (a)

(b)

67/5/2

fira, gt qem fRam ATeieR & qUT 2 1 2 1 1% U § I -gT o1 favmem
A & | G I HHITE S % U9 g AN W 15% FHH ST R | HHOH A
TEIG AN % 9,20,000 7 | GHd i ¢ HHEE B

(A) %1,20,000 B) ¥1,38,000
(C) 48,000 (D) ¥ 55,200
YT

Y, R AT 3T U HY o TSGR & a1 2 : 2 : 1% TI1d H oI -2TH sfed 8 | 31
HTE, 2022 ! T9TA 5T IY & folU 39 @A & 501 987 § $off W =& 61 @
5% St s 1 S8 10% Sfd a9 T € 15 | IFhT wRf ISt shus: € 2,00,000; 3
1,00,000 7T T 50,000 &t | 3 T oA & feru srrersares wamisrHT wiefy gnft :

AT

A mutyr | s
® ®

(A) | 9t =1 =T @ ™ 2,000
R T o] WAl 1,000
3TR <1 =Te] QT 1,000

(B) | bt 1 =Te] @i m 3,000
R T FTe] WAl 2,000
3TR <1 =ITe] @l 1,000

(C) |t =1 ¢&f @Tar T 2,000
EPGoR CIRCIGI 1,000
3TR 1 Y1 @ 1,000

D) | bt =1 ISt @@ EiL] 3,000
PGk CIRCIGl 2,000
3TR T YSH @ 1,000
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6. (a)
(b)
67/5/2

Amit, Sumit and Kiara are partners sharing profits and losses in the
ratio 2 : 2 : 1. Sumit is entitled to a commission of 15% on the net profit
after charging such commission. The net profit before charging

commission is T 9,20,000. The amount of commission payable to Sumit
will be :

(A) %1,20,000
(C) 48,000

OR

(B) 1,38,000
(D) 55,200

P, Q and R are partners in a firm sharing profits and losses in the
ratio of 2 : 2 : 1. For the year ended 31st March, 2022, interest on
capital was credited to them @ 10% p.a. instead of 5% p.a. Their fixed
capitals were ¥ 2,00,000; ¥ 1,00,000; T 50,000 respectively. The

necessary adjustment entry to rectify the error will be :

JOURNAL
Particulars Debit Credit
Amt. ®) | Amt. })
(A) | P’s Current Alc Dr. 2,000
To Qs Current A/c 1,000
To R’s Current Alc 1,000
(B) | P’s Current Alc Dr. 3,000
To Q’s Current A/c 2,000
To R’s Current Alc 1,000
(C) | P’s Capital Alc Dr. 2,000
To Q’s Capital A/c 1,000
To R’s Capital Alc 1,000
(D) | P’s Capital Alc Dr. 3,000
To Q’s Capital Alc 2,000
To R’s Capital Alc 1,000

Page 9
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7. (a) TUHA, UH YT T Th BH o HISIGR & AT 5 : 3 : 2 o 1T H AT T FITTem i
211318, 2022 ° I8 AT bl SR died w1 vt foran | 39 fafr =& amm
T H T 2,00,000 =T AT AT TAT AT -FTH @Td F T 4,00,000 T STHT AT AT |

AT TrTor 31T | Ui o hRoT SRl o ToTe Tstmen wfarfs gnft

T
ferem Tm e @) | s an (3)
(A) | 9= = g T | 2,00,000
ATH BT Wl 2,00,000
(B) | wH =1 S @ T 80,000
T 1 4Sh @ am 20,000
T 1 G5t @ra 1,00,000
(C) | =TT E= Gl M 2,00,000
AT -1 @ I | 4,00,000
TS < Uoft @ 2,00,000
TH 1 Ueft @ 2,00,000
T T GSft @ 2,00,000
(D) | 9= 99T @ T | 2,00,000
A - Wl T | 4,00,000
T T Y51t @rat 3,00,000
TH T YSit @Tar 1,80,000
T 1 SH @t 1,20,000
JrerE
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7. (a)

67/5/2

L, M and N are partners sharing profits in the ratio of 5 : 3 : 2. They
decided to share profits equally with effect from 1st April, 2022. On
that date, there was a balance of ¥ 2,00,000 in General Reserve and a
credit balance of ¥ 4,00,000 in the Profit and Loss Account. The

Journal Entry for the above on account of change in profit sharing

ratio will be : 1
JOURNAL
Particulars Debit Credit
Amt. @) | Amt. })
(A) | General Reserve Alc Dr. 2,00,000
To Profit and Loss A/c 2,00,000
(B) | M’s Capital Alc Dr. 80,000
N’s Capital Alc Dr. 20,000
To L’s Capital Alc 1,00,000
(C) | General Reserve Alc Dr. 2,00,000
Profit and Loss Ale Dr. 4,00,000
To L’s Capital Alc 2,00,000
To M’s Capital Alc 2,00,000
To N’s Capital Alc 2,00,000
(D) | General Reserve Alc Dr. 2,00,000
Profit and Loss Alc Dr. 4,00,000
To L’s Capital Alc 3,00,000
To M’s Capital Alc 1,80,000
To N’s Capital Alc 1,20,000
OR

Page 11 P.T.O.



(b) T, I qUT IS WHCK & AUT2 : 3 : 1 % U H oI-T died & | 1 37,
2022 ¥ I8 Wiers o ol 1 3 : 2 : 1 9% Irgara | died 1 faoka foram | oma-
g fowrem srgura § ufted & a9 @rdl ° et 7 fpr e et %51 o, o
q&dehi A fre Jep R & feram St

(A) TTIER % YSft @l o 19 U& H @t Hioh |
(B) qHcTeh @I o 19 98T § Wl i |
(C) T W o ST 98T § W i |
(D) WrEIERi % Ysf @Tal o ST & § Gl b |

8. (a) UH v foet TaM U fafdrs srafer it worfeg w stean st i Sftem srafy
H UshHTd YT fehvdl H foRaT ST 8, 39 €9 H W I & ;

(A) T oo
(B) ferfare o <t SRorw
(C) Hr=t ROt
(D) diE R o
Jreran
(b) RO o Gew H e o & o a1 e T A B 2
(A) FROTOET 1 TR TG fopar ST e § |
B) FOTET 1 e o8 W feran ST HehaT B |
(C) =Horwst w1 ferrtee wrfedies wfaegfa < & & foran ST aehaT 2 |
(D) FoTAT 1 fteT srferges ot fora S whar 7 |
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(b)

8 (a)
(b)
67/5/2

X, Y and Z are partners sharing profits and losses in the ratio of 2 : 3 :
1. They decided to share future profits in the ratio of 3 : 2 : 1 with
effect from 1st April, 2022. At the time of change of profit sharing ratio,

unrecorded furniture will be recorded in the books of Accounts by : 1

(A) Debiting it to Partners’ Capital Account
(B) Debiting it to Revaluation Account
(C) Crediting it to Revaluation Account

(D) Crediting it to Partners’ Capital Account

The debentures which are payable on the expiry of a specified period
either in lump-sum or in instalments during the life time of the

company are known as : 1
(A) Secured debentures
(B) Specific coupon rate debentures
(C) Redeemable debentures
(D) Convertible debentures
OR
Which of the following statement is incorrect with respect to debentures ? 1
(A) Debentures can be issued for cash.
(B) Debenture cannot be issued at discount.
(C) Debentures can be issued as collateral security.

(D) Debentures can be issued at premium.

Page 13 P.T.O.



10.

11.

12.

Tt shreafen aftferfa w1 ufed qem sHeh TR T I3 9. 9 11 10 1 3T ST

T, s e 3fiTar weh w0 HI A1eierR E 1 95 3 ;2 % AU B AT diedt 8 | Ieht
Tyrft ISft shEeT: 7 1,80,000; 3 1,60,000 €T % 2,00,000 7 | 31 9T, 2022 1 FHT
LAY § e 3 yes fommet & 3= 9 3 7,500 o1 38T fora |

TTIERT Tor@ § Yt T 10% dTfveh & & ST ¢ b1 JTaeH 7 | 3T shl §sft o ot <6t
Tfsr grft

(A) ¥ 18,000 (B) 16,000
(C) 20,000 (D) 10,000

371ed TEAT s TET TS R STTET0T U’ AT Shl UM T SR, B
(A) 3% wEN (B) 4% 7dR
(C) 7% w&H D) 6uER

% 10 % e FHar 3191 e 9w g wisn gin off 78 oft qen R w3 6 1 A feman
T AT TRT T PIAH 7 B WO R forn w1 389 = o 9 forg =pam o ®
- feeifir fopan St &k @ 2

A) 4 B) %10

(C) %16 D) %6

Te X fifir ¥ 10 Sk & 200 THAT 39 T T 3 Wi 3791 hT T AT 1 I
T T T E0T R Toram T | ¥ 2 Wi 3 SRt srfem e sift wivt i g ot | g
o fopaft Tfsr sht @it 3rer St < A ey | Shi St 2

(A) 2,000 B) 1,600

(C) % 1,000 D) 2,200
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Read the following hypothetical situation and answer Question Nos. 9 and 10

on the basis of the same.

Nitya, Shreya and Ishita are partners in a firm. They share profits in the
ratio of 5 : 3 : 2. Their fixed capitals are ¥ 1,80,000; ¥ 1,60,000 and
% 2,00,000 respectively. For the year ending 31t March, 2022, Nitya
withdrew ¥ 7,500 at the end of every quarter.

9. The partnership deed provided that interest on capital will be allowed

@ 10% p.a. The amount of interest on Ishita’s capital will be : 1
(A) 18,000 (B) 16,000
(C) % 20,000 (D) 10,000

10. The average number of months for which interest on drawings will be

calculated, will be : 1
(A) 3% months (B) 4% months
(C) 7% months (D) 6 months

11. An equity share of ¥ 10 fully called up on which ¥ 6 has been paid was

forfeited for the non-payment of the balance amount. At which of the

following minimum price can it be reissued ? 1
A4 4 B) %10
€ %16 D) %6

12. 200 equity shares of ¥ 10 each issued at par were forfeited for non-payment

of first call of ¥ 3 per share. Final call of ¥ 2 per share was not yet called. By

which amount the share capital will be debited on forfeiture ? 1
(A) 2,000 B) 1,600
(C) 1,000 D) T 2,200

67/5/2 Page 15 P.T.O.



13. geht, Fftar qen A T B % A1eeR 9 U1 5 ¢ 2 1 3 % I § AW-8TH Sied & |
30 S, 2022 %! @il 1 9 71 T8 | ArEier] Horg § yang ot foh foret ot wmgier i
g < T gog <hi fafer 7o % o <1 H I5eh 9T 61 0T fuwer o aut % 3ied @v
H ¥ % 10,000 TR hT STRAT |

eadrasi s g .
oo T /it ()
319, 2020 1,20,000
31 TT=, 2021 (50,000)
31 TTE, 2022 1,70,000
Ty 1 farfer qeh e o et 1 W
(A) % 35,000 (B) 9,583
(C) 28,750 D) 8,750

14. &, @ U717 6! greier) ®H o foeed & aug afad o T 40,000 1 = 3 9 frg @ma
T AT feha ST 2
(A) TR @l (B) et @A
(C) wmereri < doft @ (D) &% @

15. arfirener (A) : @rSier) WA @Il o HeY FeY @ W SIIEE 1 oW §ied % T g 5
2 Toraent gt g+l gra sturan g+t o fo7u foret wen gru fran ST aeshan 2 |

&R (R) : AfE U TTRICR THI Thidl 1 IS SATHTT AT & 94T BH o 1 Fiefiar
T 7, Al I8 IHhT @1 T a1 I8 § 3fAd aff 9 *1 PIae w4
M |

frefafiga @ 9 w2 fased =1 997 A -

(A) HI (A) 7YT (R) HEI € |

(B) 3T (A) TT (R) T 7 |

(C) BHI (A) T (R) H&l & 72T (R), (A) F gt =A@ 2 |
(D) eI (A) a1 (R) H&l & a1 (R), (A) ! o) sarean i 2 |
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13. Khushi, Namita and Manvi were partners in a firm sharing profits and losses

14.

15.

in the ratio of 5 : 2 : 3. On 30tk June, 2022, Khushi died. The partnership deed
provided that on the death of a partner, her share of profit till the date of

death was to be calculated on the basis of average profit of last three years

less ¥ 10,000. 1
Profits for the last three years were :
Year ended Profits/Loss (%)

31st March, 2020 1,20,000

31st March, 2021 (50,000)

31st March, 2022 1,70,000
Khushi’s share of profit till the date of her death was :
(A) 35,000 (B) 9,583
(C) 28,750 (D) 8,750

On dissolution of the partnership firm of A, B and C, the accumulated

profits of ¥ 40,000 will be transferred to which of the following account ? 1
(A) Revaluation Account (B) Realisation Account
(C) Partners’ Capital Accounts (D) Bank Account

Assertion (A) : Partnership is the relation between persons who have
agreed to share the profits of the business carried on by all or any of

them acting for all. 1
Reason (R) : If a partner carries on any business of the same nature and
competing with that of the firm, he/she shall account for and pay to
the firm all profit made by him/her in that business.
Choose the correct option from the following :
(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are incorrect.
(C) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(D) Both (A) and (R) are correct and (R) is not the correct explanation of (A).

67/5/2 Page 17 P.T.O.



16. (a)

(b)

17. (a)

(b)

67/5/2

T fdfieg 3 3 10 I8 & 1,10,000 3130 61 S8 20% fiftrem 9w foffia
Topam T e, T 2 wid 319 1 oW I a9 3 3 id 31w i 1f<m JmE
ITAT 7 ST T E0T SR TOTT | 3791 €207 @I <h ST U] | @l ehl STt

A) ¥5,50,000 B) 7,70,000
(C) % 2,20,000 (D) 5,00,000

areran
iAo adi e ?

(A) T DraITTeh fAfies Sl & 3731 Jord §9 B gy T8 8 |

B) T deft 3rfirea dsft w1 97 wm 7 e AT g |

(C) o % sfgamt o & wé doft & arfereh Joft e wfara T e Eehd |

D) Usft 1 T T At T 9w NS e st & fages & gma € i S
b 8, ISt T el B |

T, TN, et a1 fods Th B F AR S a1 5:3: 2 : 2% A A
W died 9 | 31 HIE, 2022 1 HAA WA & TAT | T, Nh qe foews 3
WIS T ST SISR-SRIeR died &1 (i fohan | sme <t fanf-gfa o e & @t
T Feameh 3 9,00,000 foham 7= |

AU TTUT T TASAT § GITH §U HUA h! JATIT TR TN 6 TR bl
3TevTeh U= wiafs Hife | =g frofr forn mn 2 76 wnfa 61 % 6 geaest §
EURIEEE L

Fera

TGS AT AT FHER & TAT 3 : 2 o I H A sied & | T H AW H 1/49
9T % fore wd & yaw feam e | $u st $Sft % w9 § % 40,000 @ | @,
TRETARTET qeT ST % GAHeATRA TG § Hafed aut Sumiem] o g9 31qd
T T <t dSft shEE: T 60,000 T T 40,000 oft | g wEHld g foh wEie
Yt U e forwTe 37T < STER B |
U GRS 1 A i T STefl ST 3 gl o1 S arelt Goft <A o
I T 35 forw 3rTervesh Ustararn wfefy /wfafsat Hife |
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16. (a)
(b)
17. (a)
(b)
67/5/2

Aysha Ltd. forfeited 1,10,000 shares of ¥ 10 each issued at 20%
premium for the non-payment of first call of ¥ 2 per share and final
call of ¥ 3 per share. Share Forfeited Account will be credited with :

(A) %5,50,000 B) %7,70,000

(C) % 2,20,000 (D) 5,00,000
OR

Which of the following statements is true ?

(A) The shares of a public limited company are not freely
transferable.

(B) Paid up capital is that part of the subscribed capital which has
been called up.

(C) The company cannot raise more capital than the amount of
capital as specified in the Memorandum of Association.

(D) The part of the uncalled capital which is called only in the event
of winding up of the company is called Capital Reserve.

Tarun, Abhishek, Kamal and Vivek were partners in a firm sharing
profits in the ratio of 5 : 3 : 2 : 2. Kamal retired on 31st March, 2022.
Tarun, Abhishek and Vivek decided to share future profits equally.
On Kamal’s retirement goodwill of the firm was valued at ¥ 9,00,000.
Showing your working clearly, pass the necessary journal entry for
treatment of goodwill on Kamal’'s retirement. It was decided not to
show goodwill in the books of the firm.

OR

Atul and Geeta were partners sharing profits in the ratio 3 : 2. Ira
was admitted into the firm for 1/4th share of profits. Ira brought
% 40,000 as her capital. The capitals of Atul and Geeta after all
adjustments relating to goodwill, revaluation of assets and liabilities
etc. are ¥ 60,000 and ¥ 40,000 respectively. It is agreed that capitals
should be according to the new profit sharing ratio.

Calculate the amount of actual cash to be paid off or brought in by
the old partners. Pass the necessary journal entry/entries for the

same.

3
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18.

19.

20.

21.

(a) 3T, feuT qen Uad U WH o HIRigR & AT 2 1 3 : 1% U H oY Sied o |
TTIET T % TTIR TS 1 T 40,000 T hH TRA @ 718 off | 31 91, 2022
1 THT gU Y | %H T I oy T 1,20,000 T |
31 AT, 2022, ! HUT U Y o foT¢ & 1 ety -1+ faf=is @ dam Hifs |

Jreran

(b) Raat e Ffaet |rEieR & qem 3 : 2 % AT H -1 dfed & | IThT TrRh
ISt shEeT: T 1,00,000 @1 % 80,000 ff | G5t W 6% o g€ | ST i HgAfd
7 | Tafaer =1 7 9,200 1 anfifes I feam s o | o 2021-22 # Gt W =
1 7T B g ] FRaS 1 I @ % 9ETd g o 2 1,20,000 T |

31 AT, 2022 ! THG g Y o foT0 B o1 v -2 fafaesm @ dom hifse |

FR AT IR HTEER & AT 3 : 2 % AT o A1 dicd I | S8 o o 1/49
9T & ToTC Tl 1 U FTSeR SR | B 6l @il 1 gedich Afreny o b aut &
3 o SR T HET AT | BH 6T 3T g 19 T 20,000 AT | B H T 50,000 T Uit
T o T I g @ 10% oY | 76N gy @ e @ta shiftrem s i <6 o

HIT |

For fafiree 7 s fafires &1 % 10,00,000 3t afwafaar @ 2 1,00,000 i Caisi
13RI T 8,00,000 o 36T oI W TR | e feafires A % 2,60,000 T 3T TH = 6
T | qYT I BT PTAE T 100 TAF b 12% FOHAT Dl 10% 3 T rifea weh
fopar | per ferfiree <At qecenl § IURIERT AT h! UsHTH=I Safsa SHife |

At feafiee T 10 Tk o awar 37 § fawed 3 8,00,000 1 31frha ISft w6 @
gSfiehd oft | SHFOT A 60,000 FHAT 391 & e < fofe stmeer ke & &g =
S foRa | et BT 58,000 |aT 3791 % ot 3TTee WTed g€ | |t Areed win &t g
T T B 18, et 3,000 370 h Uh LR T ! Bigaht S T 3 ufq 3191 i
TEQ TUT T AT 1 WA 21 AT T | 37 IR BT 301 hY. For 737 |

(a) SR AT, 2013 <t STER 111, Wit I 3 31gEr fef foamor 8§ 37w d6f goitsu |

(b) EH & forw “@rdi o g’ ft AR HIY |
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18. (a) Asha, Disha and Raghav were partners in a firm sharing profits in
the ratio of 2 : 3 : 1. According to the partnership agreement, Raghav
was guaranteed an amount of ¥ 40,000 as his share of profits. The
net profit for the year ended 31st March, 2022 amounted to
% 1,20,000.

Prepare Profit and Loss Appropriation Account of the firm for the
year ended 31st March, 2022. 3
OR

(b) Akhil and Nikhil were partners sharing profits and losses in the
ratio of 3 : 2. Their fixed capitals were ¥ 1,00,000 and I 80,000
respectively. Interest on capital was agreed @ 6% p.a. Nikhil was to
be allowed an annual salary of ¥ 9,200. During the year 2021-22, the
net profit prior to the calculation of interest on capital but after
charging Nikhil’s salary amounted to ¥ 1,20,000.
Prepare Profit and Loss Appropriation Account of the firm for the
year ending 31st March, 2022. 3

19. Aayush and Aarushi are partners sharing profits and losses in the ratio of
3 : 2. They admitted Naveen into partnership for 1/4th share. Goodwill of
the firm was to be valued at three years’ purchase of super profits.
Average net profit of the firm was ¥ 20,000. Capital investment in the
business was ¥ 50,000 and Normal Rate of Return was 10%. Calculate the
amount of Goodwill premium brought by Naveen. 3

20. Kuber Ltd. purchased assets worth ¥ 10,00,000 and took over liabilities of
% 1,00,000 of Amrit Ltd. for a purchase consideration of ¥ 8,00,000. Kuber
Ltd. paid ¥ 2,60,000 through a cheque and the balance was settled by
issuing 12% debentures of ¥ 100 each at a discount of 10%. Pass necessary
journal entries in the books of Kuber Ltd. for the above transactions. 3

21. Unnati Ltd. was registered with an authorised capital of ¥ 8,00,000
divided into equity shares of ¥ 10 each. The company issued a prospectus
inviting applications for 60,000 equity shares. The company received
applications for 58,000 equity shares. All calls were made and were duly
received except the second and final call of ¥ 3 per share on 3,000 shares
held by Manit. These shares were forfeited.

(a) Present the share capital in the Balance Sheet of the company as per
Schedule III, Part I of the Companies Act, 2013.

(b) Also prepare “Notes to Accounts” for the same. 4
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22. %, @ TUT T Ueh et 3cdTeesh BH o FIRER & | 4 2 1 2 : 1% 34T H -3l died 9 |
31 AT, 2022 w1 371 e ferawor f g @ o -

31 |T, 2022 1 &, @ qA1 71 1 e feamon

ST afw aftamafat afn

R) ®)
g yfiy e o 3,00,000
% - 1,50,000 g qan il | 2,50,000
@ - 2,00,000 IER 80,000
T— 2.00.000 | 5,50,000 | =i 70,000
M= T= 2,50,000 | Uhg & 60,000
TER 30,000 | S ¥ Tg 90,000

< faa 20,000

8,50,000 8,50,000

30 S, 2022 %! @’ 31 Jog B 75 | HISIER] ol o STTAR 366k I SAUTIRIIT
e

() TId H 3k 9T T 24,000 |
(i) et W 12% anfies g E =& |

(iii) Tg I ol a6 o & I|ept wr fgeht o fosRa 6 smam W SR
1 38, 2022 & 30 SH, 2022 T fosRa % 1,25,000 9 | 31 W, 2022 W
U §C Y o fI wH o1 foska qem &y A % 10,00,000 @1 % 2,50,000
UT | IHeh B! ITAUTIHTIET 1 T i o 7T @' 1 Gt @rar daIr Hife |
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22. A, B and C were partners in a printer manufacturing firm. They were
sharing profits and losses in the ratio of 2 : 2 : 1. On 31st March, 2022
their Balance Sheet was as follows :

Balance Sheet of A, B and C as on 31st March, 2022

Liabilities Amount Assets Amount
® ®)

Capitals : Land and Building 3,00,000

A — 1,50,000 Plant and Machinery | 2,50,000

B - 2,00,000 Debtors 80,000

C - 2,00.000 | 5,50,000 | Stock 70,000

General Reserve 2,50,000 | Cash in hand 60,000

Creditors 30,000 | Cash at Bank 90,000
Bills Payable 20,000

8,50,000 8,50,000

B died on 30th June, 2022. According to the partnership deed, his legal

representatives are entitled to :

(1) 24,000 for his share of Goodwill.

(1) Interest on capital @ 12% p.a.

(i11) His share of profit till the date of death calculated on the basis of
sales. The sales from 1st April, 2022 to 30th June, 2022 were
T 1,25,000. The sales and profits of the firm for the year ending 31st
March, 2022 were ¥ 10,00,000 and ¥ 2,50,000 respectively.

Prepare B’s Capital Account to be rendered to his legal representatives.

67/5/2
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23. (a) YA, UG a7 FTS Uk HH & HISIER & AT 5 : 3 : 2% U § AT sred

67/5/2

& | 319/, 2022 i 3k fefa foemor fre geeme @ o

31 W, 2022 ! HHA, Age a1 = < et feramon

. afw , Tt
ORI aREmtEt
®) ®)
St offH T aA 1,70,000
HUA 1,20,000 I qUT qed 2,60,000

g 1,20,000 1,00,000
Bt 1,.20,000 | 3,60,000 80,000
M= g= 1,20,000 50,000

faftr= S eR 1,80,000
6,60,000 6,60,000

Iorerd Tt o1 Tgel HaTi-a 81 7T a9 it =1l o) Henid g3

(i) =TT T geETeRd T 3,50,000 feRam TR |

(i) fof= SFert § wftafera € 10,000 6w ge oft Rweht g 7@ fopam st
T | 37q: Tafctiad ST feam 79T | Teleh o1 qodmhd < 90,000 fora T |

(iii) € ®Y S G T 2,10,000 Frerifea 1 718 qen sHHT AUTAISH WY HISERT %

Y TITSE T T BT AT | 3Hh T SATERIRATIIR Uhs oATS ST
1T $HhT YT ThaT SR |

(iv) TEE ol < M ST FEATARUT IHeh 0T WA H H e ST |
g hl AT T IAHeATh @Il a1 HIRIERi @ Yol Wd AR I |
FrerE
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23. (a) Kamal, Rahul and Neeraj were partners in a firm sharing profits and
losses in the ratio of 5 : 3 : 2. On 31st March, 2022, their Balance
Sheet was as under :

Balance Sheet of Kamal, Rahul and Neeraj as on 31st March,
2022
Amount Amount
Liabilities Assets
®) ®
Capitals : Land and Building 1,70,000
Kamal 1,20,000 Plant and Machinery | 2,60,000
Rahul 1,20,000 Stock 1,00,000
Neera; 1,20,000 | 3,60,000 | Debtors 80,000
General Reserve 1,20,000 | Cash 50,000
Sundry Creditors 1,80,000
6,60,000 6,60,000
On the above date, Rahul retired and following terms were agreed
upon :
(1) Goodwill of the firm was valued at ¥ 3,50,000.
(11) An item of ¥ 10,000 included in Sundry creditors is not likely to
be claimed and hence written off. Stock was valued at ¥ 90,000.
(i11) Capital of the new firm was fixed at T 2,10,000 and the same
will be adjusted in the profit sharing ratio of the remaining
partners. For this purpose the required cash will be brought in
or paid off as the case may be.
(iv) Amount payable to Rahul will be transferred to his loan
account.
Prepare Revaluation Account and Partners’ Capital Accounts on
Rahul’s retirement. 6
OR
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(b) 3Ty T foreiv TSR & qeM 3 : 2 % U | -1 Fled & | 31 °E, 2022

24. (a)

67/5/2

w1 371 TRafa 31 A, 2022 i 3trefiy qen forers s ferfa feremor foramor fg e -
31 WT=l, 2022 k! 3eiie qen ferorw = feofa feramon

S T ottt T

® ®
THER 30,000 | s ® TTe 50,000

e ferstedt foe 20,000 | IR 80,000
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% 50,000 e ATl |

(i) 37ed festeft faret = symam w6 fean s |

(iii) TTeh ST oA T 12,000 3Tereh 9T 70T |

HT=T % Y9 T H < Jdeh] § STTaeh U= Tfafsat Sifs |

aoft fetfiree 9 ¥ 10 ¥ % 1,00,000 0T 379 T 10% Sfrm o fifia s
o ToTu 31 smmf=ra fopu | Tfst w1 e fr R @ g
JATAEH aT 3TTeed W — T 4 Ufa 3791 1 Siftew afea)
T AT W — T 4 Tfa 31
gadl wa i FreE - % 3 wid 3w
1,50,000 3731 & foTu 31des wTed gU qut aft 3Trdeshl b1 TUTde 3R W
3Tee L Team | srfafier teed Uiy 1 FHmEeH FrEETe WS Ui §
foram | wes st 9k, fSER 600 379 o faw sAree fomam o, 3 vem g
T YA A& (6T | I8eh AT HT BL01 HL T T | ot qem Afem arer il
T Wi FET TS oft | g7 foRu T 7RI H | e 37E Bl T 8 Wik 37 O wed g
Temtfira =he feam e |

STET JTEvIS Bl ITEd AT WA T Yeed e @Al @ikt IWIe
T o fore aroft feafireg ot qedenl § STraweres U= gfafsar Hifs |

Jreran
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(b) Ashish and Vishesh were partners sharing profits and losses in the
ratio of 3 : 2. Their Balance Sheet as at 31st March, 2022 was as

under :
Balance Sheet of Ashish and Vishesh as at 31st March, 2022
. 4 evens Amount Amount
Liabilities ® Assets ®
Creditors 30,000 | Cash at Bank 50,000
Outstanding Debtors 80,000
electricity bill 20,000 | Less : provision for bad debts 2.000 78,000
Capitals :
Ashish  3,00,000 Stock 1,12,000
Vishesh 2,00,000 | 5,00,000 | Machinery 3,00,000
Profit and Loss Alc 10,000
5,50,000 5,50,000

On 1st April, 2022, Manya was admitted into the firm with 1/4th

share in the profits on the following terms :

(1) Manya will bring ¥ 1,00,000 as her capital and ¥ 50,000 as her
share of goodwill premium in cash.

(1) Outstanding electricity bill will be paid off.

(i11) Stock was found over valued by ¥ 12,000. 6

Pass the necessary journal entries in the books of the firm on

Manya’s admission.

24. (a) Vani Limited invited applications for issuing 1,00,000 equity shares of
T 10 each at a premium of 10%. The amounts were payable as under :
On Application and Allotment — ¥ 4 per share (including premium 1)
On first call — ¥ 4 per share
On second and final call — X 3 per share
Applications for 1,50,000 shares were received and pro-rata allotment
was made to all the applicants.

Excess application money was adjusted towards sums due on calls.
Parth, a shareholder who had applied for 600 shares did not pay the
first call. His shares were forfeited. The second and final call was not

yvet made. Half of the forfeited shares were reissued at ¥ 8 per share
fully paid up.

Journalise the above transactions in the books of Vani Limited by
opening calls in arrears and calls in advance account wherever
necessary. 6

OR
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(b)

Pass necessary journal entries for forfeiture and reissue of forfeited

shares in the following cases :

(1) Vipin Ltd. forfeited 10,000 shares of ¥ 10 each issued at a
premium of ¥ 1 per share, for non-payment of second and final
call of ¥ 2 per share. Out of these, 60% of the shares were
reissued at ¥ 7 per share fully paid up.

(11) Deepak Ltd. forfeited 800 shares of ¥ 10 each, ¥ 8 per share
called up, for non-payment of first call of ¥ 3 per share. All the
forfeited shares were reissued for ¥ 12 per share fully paid.

25. Pass necessary Journal Entries for the following transactions on the

dissolution of a partnership firm of Mita and Sonu on 31st March, 2022

after the various assets other than cash and third party liabilities have
been transferred to the Realisation Account.

(@)

(b)
©)
(d)

(e)
®

Creditors of ¥ 90,000 took over Land and Building of ¥ 2,00,000 in
full settlement of their claim.

Sonu took over debtors amounting to ¥ 50,000 at ¥ 40,000.
Realisation expenses I 1800 were paid by Sonu.

A machine which was not recorded in the books was taken over by
Mita at ¥ 11,000 while its expected market value was ¥ 15,000.

Sonu agreed to pay off his wife’s loan of ¥ 20,000.
Profit on dissolution amounted to ¥ 50,000.

26. Chiranjeevi Limited issued 2,000, 10% debentures of ¥ 100 each. Pass the
necessary Journal entries for the issue of debentures in the following

6

cases :
(a) When debentures were issued at 10% premium, redeemable at 5%
premium.
(b) When debentures were issued at 5% discount, redeemable at 10%
premium.
(¢) When debentures were issued at par, redeemable at a premium of
10%.
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PART -B
OPTION -1

(Analysis of Financial Statements)

27. (a) Which of the following transaction will result in no flow of cash ?
(A) Purchase of machinery
(B) Sale of investments
(C) Acquisition of machinery by issue of equity shares
(D) Redemption of debentures
OR
(b) Match the transactions given in Column — II with their correct category
given in Column — I for the purpose of preparation of ‘Cash Flow
Statement’. 1
Column -1 Column - 11

(a) Investing Activity (1) Interest paid

(b) Financing Activity (i1) Purchase of Goodwill

(¢) Operating Activity (111) Cash receipts from sale of goods

(@ ® (©

A) @) @ @)

B @ @ @)

© @O @) @)

M) @ @) @

28. (a) Which of the following are not tools of Financial Analysis ? 1
(1) Cash Flow Statement (11) Income Statement
(111) Balance Sheet (iv) Ratio Analysis
(A) (@) and (i1) (B) (@i) and (v)
(C) (@1) and (1) (D) (ii) and @v)
OR
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29.

30.

31.

32.

(b) AT a e T TR ?
(A) AT SFIUTAT shl TUHT ST <hl TTEhTCA INEITAT sl HII o forw
ST R |
(B) 7o) 3T <hl 3Tt STiel STUTA S 18 T Wi STHT T 2 |
(C) RURNEA 3TUTAT 1 TVMT SadTd gRT Cleehlel H $6eh VN o WM hi
AT 1 THErRoT i o foru Sh 9t 2 |
(D) Eafirea JTATa St sl ffl o1 3g / et iEeair & wrey urar § |

Uehg JaTE foramor Fam 6t & Iewa & f o & s =t wifafaferet semem wiafaferi € 2
(i)  wfaefad o T AT qen S |

(i) AR TEaeTy R T P |

(iii) Ve qUT Yook | YT ST |

(iv) T o sha o fore a7er o1 foetee |

(A) (i), (ii) AT (iii) B) (i), (iii) T (iv)

(©) (), (i) T [iv) (D) (i) @ (iii)

T fafiee i e wmfat 7 2,00,000 d€T 96 A % 1,50,000 8 | Afe gt
Hrfefiet ISt ST1ad STIUTT 6 T 2, 1 SHeh! S=ITe o 3T 8if -

(A) % 2,00,000 B) ¥ 3,00,000

(C) %2,50,000 (D) % 1,50,000

et srferfoem, 2013 6 srgeEh 111, W [ o SigEr o wel sl e & feufe e
 fopt e fiefept e Su-3fient & 3Teaid gt SR

(a) = AU IR T

() HE TR

(c) TY-gIH ferawor &1 9

g Tk k1o & T T Haer o AN g 3Tiehel i YA afieha fohan ST 8 1 39
deheIeh ohl UG ShIfSTT qT UG sh TS deh-ieh o fehral @l 1Y sh1 Jooid ShHIfVT |
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29.

30.

31.

32.

(b) Which one of the following statement is incorrect ?

(A) Liquidity ratios are calculated to measure the short term
solvency of the business.

(B) Current ratio is also known as Acid Test Ratio.

(C) Solvency ratios are calculated to determine the ability of the
business to service its debt in the long run.

(D) Proprietary ratio expresses the relationship of proprietor’s
funds to net assets / total assets.

Which of the following activities are operating activities for the purpose of
preparing ‘Cash flow statement’ ?

(1) Dividend and Interest received on securities.

(11) Payment of employee benefit expenses.

(i11) Cash receipts from royalties and fees.

(iv) Issue of shares against purchase of machinery.

(A) (1), (i1) and (ii1) (B) (ii), (1ii) and (iv)
(C) (@), @) and @(@v) (D) (1) and (ii1)

The current assets of X Ltd. are ¥ 2,00,000 and its current liabilities are
% 1,50,000. If, its working capital turnover ratio is 6 times, its revenue
from operations will be :

(A) ¥2,00,000 (B) ¥ 3,00,000
(C) 2,50,000 (D) % 1,50,000

Under which major heads and sub-heads will the following items be
presented in the Balance Sheet of a Company as per Schedule III, Part I
of the Companies Act, 2013 :

(a) Cheques-Drafts on hand
(b) Work-in-Progress

(¢) Balance in Statement of Profit and Loss

‘It 1s a technique which involves regrouping of data by application of
arithmetical relationships.” Identify the technique and state any two
advantages of the technique identified.

3
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33. (a)

(b)

=1 =T & TRfRTe qen s1f<m weie i T I
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Jreran
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AT STATA ST, T 1T 3 h1s IRad T 81 -
@ ¥ 3,00,000, 9% FOTHAT BT THAT TN H qREd |
(i) <TER ¥ ¥ 1,00,000 6 g I |
(iii) ¥ 10,00,000 % 11% FUTIST T INEA |
iv) T 4,00,000 % HTeT T ITR 37 |

34. T Shrouf-er YA o1 Iieq quT I8eh TR UL A= et e ye1 & I &

a¥ 2019 ¥ 3nfefa 3 fhes fafies’ 9@ &1 31991 wé-317 & foman | e

fafiree w i @ feher aTelt 318 8 | Tl o Wi STTEehal o HRU AR 3

TN H IHHT Y 9¢ W 2 |
31 AT, 2022 ! gt g Y & foru fesst ferfies & feufa foewor @ fam g sgf@
HIE
31 urd, 2022 31 wrd, 2021
() )

THAT 379 S 90,00,000 60,00,000

11% =oT9= 30,00,000 50,00,000
YR (ST o 1Y) 28,00,000 20,00,000
R R ThHEA Jeas 90,000 60,000
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33. (a) From the following information, calculate the value of opening and
closing inventory :
Inventory Turnover Ratio — 4 times
Gross Profit = 20% on Revenue from operations
Revenue from operations =¥ 10,00,000
Opening inventory is 25% of the inventory at the end. 4

OR
(b) Debt-Equity Ratio of Z Ltd. is 2 : 1. State with reason whether the

following transactions will improve, decline or will not change the
debt-equity ratio :
(1) Conversion of ¥ 3,00,000, 9% debentures into equity shares.
(i1) Cash received from debtors ¥ 1,00,000.
(111) Redemption of ¥ 10,00,000, 11% debentures.
(iv) Purchase of goods on credit I 4,00,000. 4

34. Read the following hypothetical text and answer the questions given
below on the basis of the same :
Aditi, initiated her start-up ‘Fizz Ltd. in 2019. ‘Fizz Ltd. is an
organic juice extracting unit. Its profits are increasing year-after-year
because of the increasing awareness towards health. 6

Following information has been extracted from the Balance Sheet of ‘Fizz
Ltd. for the year ended 31st March, 2022 :

31st March, 2022 | 31st March, 2021
) (9
Equity Share Capital 90,00,000 60,00,000
11% Debentures 30,00,000 50,00,000
Machinery (at cost) 28,00,000 20,00,000
Accumulated Depreciation on
Machinery 90,000 60,000
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rfafier g

() o % S T 4,00,000 AT <ht Teh T T fospa T 30,000 o & T femam 7 |
(i) a9 § T o SRR T gedsrE ¥ 50,000 o7 |

(iii) 11% O W A fohu MU STt Y Ui 7 5,50,000 oft |

(iv) FHAT 37 W T 3,00,000 o ATHI T PTAM fohaT 717 |

(v) RO T YA 31 |, 2022 w1 10% Siferrg ux foperm mam |

Fopew fetfiree Y fraw nfafafRmr aen foxfia nfafalrr @ e yarg & om hifse |

1
Rerea - 11
(erfirerfera eraTeRn)
27. A re o e (3ehieeg) AU HaqeR aftiferd g, Haard @ -
A) i (Heafee) sem (B) @S (i) HIgH
(C) @& higH D) i wgE® (AHIH) HIgd
28. (a) UH UH UaEd H Th &F (Fieg) ™ fore o fou 3w feru 511 Hepd aret 31ftrenad
A=Al (hied) 6 T I 2
(A) 28 (B) 32
(C) 64 (D) 104
Frean
(b) eh3fie | freaifed & 78 srf=m R o1 Ioted & forw T § 4 i S &
STt & 2
A IFg B) =g
C) = D) &g

29. =9 9 %= 91 fyge Toet 1o @i 8 2
(A)  3ATehgl &1 BHET AT (Fr=ieT)
B) IuureR Ffgut
(C) TR oI Uferd e Uk ol T | o STHT
(D) ATkl h S ATAT BT T TE B Hhal & |
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27.

28.

29.
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Additional Information :

(1) During the year, a machine costing ¥ 4,00,000 was sold at a gain of
< 30,000.

(i1) Depreciation charged on machinery during the year was ¥ 50,000.
(111) Interest paid on 11% debentures amounted to ¥ 5,50,000.

(iv) Dividend of ¥ 3,00,000 was paid on equity shares.

(v) Debentures were redeemed at a premium of 10% on 31st March, 2022.

Calculate cash flows of ‘Fizz Ltd.” from ‘Investing Activities’ and
‘Financing Activities.’

PART -B
OPTION -11
(Computerised Accounting)

Codes comprising of alphabets or abbreviation are known as
(A) Sequential codes (B) Block codes
(C) Number codes (D) Mnemonic codes

(a) Maximum number of characters that can be used to write a field
name in MS Access is :

A) 28 B) 32
(C) 64 D) 104
OR

(b) Which of the following command reverses the last action performed
in the worksheet ?

(A) Undo (B) Cut
(C) Paste (D) Redo

Which of the following is not the advantage of Pivot table ?
(A) Filtering of data

(B) User-friendly

(C) Moving rows to columns and columns to rows

(D) Cannot summarise large amount of data



30.

31.

32.

33.

34.

(a) T o WS A1 ATE-TF FE (FFRM) HT T (FRH) T2 2 2
(A) TI-IG-FA (FF-T5-2)
(B) T — S — 37 (e — o — hiew)
(C) Hd —3fG — J1HH (I — 3% — HicH)
(D) dfehes TR (SATTTRST )

Froran
(b) 9 T Tt Tehgen T Go Tohart ST & A fohat T shefie fomms <ot 8 2
A = B) =R
©) T O @

TR T YOIt <t e Iq-Tomferai shi THeisy :
(a) Uhe TUT Sh IT-TUITA
(b) Torsra auT YT @I IT-YUTTRAt

T W&, “Fiaera’ quT faforar =1 stieret Treuur faftr & &9 ¥ gmesy |

(a) ORGIH Tsh bl TRUTNG HITT aem Teh oRaieh =sh § ABIfoIq STaws i
HHHATET |
T
(b) ARreRfeT cr@TR JUMTER o TREITCHe 1Y o &9 § TTHTES FRET a1 ‘STl 3Aftse’
o1 372 T /T |

3 3Yfg HT 0 AR, S 9 Yhe Bl & IS A Ty (W) 9 & qar | Iooh@
ShifsTe foh g 3s1fg S wunfera &t <11 Tehelt # |
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Which of these is not a argument of the IF function ?

(A) Value-if-true (B) Value-when-false
(C) Value-if-false (D) Logical test
OR
How many blank worksheets are shown when a new workbook is
created ?
(A) Three (B) Four
(C) One D) Two

Explain the following sub-systems of Accounting Information System :

Cash and Bank Sub-system

Sales and Accounts Receivable Sub-system

Explain — ‘Number formatting’, ‘Percentages’ and ‘Dates’ as data
formatting tools.

Define Accounting cycle and state the phases involved in an
Accounting cycle.

OR

Explain the meaning of ‘Password Security’ and ‘Data Audit’ as
security features of Computerised Accounting System.

Name the error which appears when the cell reference is not valid. State

how this error can be corrected.

30. (a)
(b)
31.
(a)
(b)
32.
33. (a)
(b)
34.
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